Example Student A: Missouri Resident *****

Please use the following worksheet to help you calculate your costs of attending the Mizzou MBA program. You can also see the costs of some example students.

The MBA program is 57 credits and is typically done over 4 semesters.

Dual programs will shorten up the total hours needed to complete an MBA and additional concentrations will require additional hours. Both of these options will affect the cost of the program.

Fee	*Cost	# of semesters/hours	Total Estimated Costs
**Tuition-Graduate w/ The Graduate Student Tuition Support Program	\$386.00	57	\$22,002.00
**Nonresident fee (added to tuition if not a Missouri resident)	\$0.00	57	\$0.00
Business Course Fee-Graduate	\$112.80	57	\$6,429.60
Information Technology Fee	\$14.03	57	\$799.71
Prepaid Health Fee	\$95.00	4	\$380.00
Recreation Fee	\$150.76	4	\$603.04
Student Activity Fee	\$193.05	4	\$772.20
***Student Health Insurance (Required for international students) (Priced per year)	\$2,021.00	2	
****Books	Various	4	
****Parking Tag (optional, priced per year)	\$120 -\$170	2	
Estimated Living Expenses (priced per year)	\$17,600	2	
*****Total Estimated Costs			\$30,986.55

^{*}Costs are based on 2019 Fall Fees. Fees typically increase each year so actual costs will be different than those estimated above. Please see the Cashiers Office at cashiers.missouri.edu/costs for the most recent costs.

- **If a student is a domestic student or a US Permanent Resident and a non-Missouri resident, they may be able to establish Missouri residency for their second year in the program. Please see registrar.missouri.edu/residency on how to establish residency.
- ***Student Health Insurance is separate from the Prepaid Health Fee, which only gives access to the Student Health Center. Health insurance for international students is required. Please see the Graduate Studies Office website for additional information on coverage and current costs: http://gradstudies.missouri.edu/financials/student-medical-insurance/costs-coverage.php.
- ****The cost of books will vary depending on classes and program emphasis. The cost of a parking tag will vary. Please visit: http://parking.missouri.edu/

Example Student B: Non-Missouri Resident*****

Please use the following worksheet to help you calculate your costs of attending the Mizzou MBA program. You can also see the costs of some example students.

The MBA program is 57 credits and is typically done over 4 semesters.

Dual programs will shorten up the total hours needed to complete an MBA and additional concentrations will require additional hours. Both of these options will affect the cost of the program.

Fee	*Cost	# of semesters/hours	Total Estimated Costs
**Tuition-Graduate w/ The Graduate Student Tuition Support Program	\$386.00	57	\$22,002.00
**Nonresident fee (added to tuition if not a Missouri resident)	\$670.80	57	\$38,235.60
Business Course Fee-Graduate	\$112.80	57	\$6,429.60
Information Technology Fee	\$14.03	57	\$799.71
Prepaid Health Fee	\$95.00	4	\$380.00
Recreation Fee	\$150.76	4	\$603.04
Student Activity Fee	\$193.05	4	\$772.20
***Student Health Insurance (Required for international students) (Priced per year)	\$2,021.00	2	
****Books	Various	4	
****Parking Tag (optional, priced per year)	\$120 -\$170	2	
Estimated Living Expenses (priced per year)	\$17,600	2	
*****Total Estimated Costs			\$69,222.15

^{*}Costs are based on 2019 Fall Fees. Fees typically increase each year so actual costs will be different than those estimated above. Please see the Cashiers Office at cashiers.missouri.edu/costs for the most recent costs.

**If a student is a domestic student or a US Permanent Resident and a non-Missouri resident, they may be able to establish Missouri residency for their second year in the program. Please see registrar.missouri.edu/residency on how to establish residency.

***Student Health Insurance is separate from the Prepaid Health Fee, which only gives access to the Student Health Center. Health insurance for international students is required. Please see the Graduate Studies Office website for additional information on coverage and current costs: http://gradstudies.missouri.edu/financials/student-medical-insurance/costs-coverage.php.

****The cost of books will vary depending on classes and program emphasis. The cost of a parking tag will vary. Please visit: http://parking.missouri.edu/

Example Student C: International*****

Please use the following worksheet to help you calculate your costs of attending the Mizzou MBA program. You can also see the costs of some example students.

The MBA program is 57 credits and is typically done over 4 semesters.

Dual programs will shorten up the total hours needed to complete an MBA and additional concentrations will require additional hours. Both of these options will affect the cost of the program.

Fee	*Cost	# of semesters/hours	Total Estimated Costs
**Tuition-Graduate w/ The Graduate Student Tuition Support Program	\$386.00	57	\$22,002.00
**Nonresident fee (added to tuition if not a Missouri resident)	\$670.80	57	\$38,235.60
Business Course Fee-Graduate	\$112.80	57	\$6,429.60
Information Technology Fee	\$14.03	57	\$799.71
Prepaid Health Fee	\$95.00	4	\$380.00
Recreation Fee	\$150.76	4	\$603.04
Student Activity Fee	\$193.05	4	\$772.20
***Student Health Insurance (Required for international students) (Priced per year)	\$2,021.00	2	\$4,042.00
****Books	Various	4	
****Parking Tag (optional, priced per year)	\$120 -\$170	2	
Estimated Living Expenses (priced per year)	\$17,600	2	
*****Total Estimated Costs			\$73,264.15

^{*}Costs are based on 2019 Fall Fees. Fees typically increase each year so actual costs will be different than those estimated above. Please see the Cashiers Office at cashiers.missouri.edu/costs for the most recent costs.

**If a student is a domestic student or a US Permanent Resident and a non-Missouri resident, they may be able to establish Missouri residency for their second year in the program. Please see registrar.missouri.edu/residency on how to establish residency.

***Student Health Insurance is separate from the Prepaid Health Fee, which only gives access to the Student Health Center. Health insurance for international students is required. Please see the Graduate Studies Office website for additional information on coverage and current costs: http://gradstudies.missouri.edu/financials/student-medical-insurance/costs-coverage.php.

****The cost of books will vary depending on classes and program emphasis. The cost of a parking tag will vary. Please visit: http://parking.missouri.edu/

Graduate Assistantship & Graduate Student Tuition Support Program (GSTSP) Award

Please use the following worksheet to help you calculate your costs of attending the Mizzou MBA program. You can also see the costs of some example students.

The MBA program is 57 credits and is typically done over 4 semesters.

Dual programs will shorten up the total hours needed to complete an MBA and additional concentrations will require additional hours. Both of these options will affect the cost of the program.

Fee	*Cost	# of semesters/hours	Total Estimated Costs
**Tuition-Graduate w/ The Graduate Student Tuition Support Program	\$0.00	57	\$0.00
**Nonresident fee (added to tutition if not a Missouri resident)	\$0.00	57	\$0.00
Business Course Fee-Graduate	\$112.80	57	\$6,429.60
Information Technology Fee	\$14.03	57	\$799.71
Prepaid Health Fee	\$95.00	4	\$380.00
Recreation Fee	\$150.76	4	\$603.04
Student Activity Fee	\$193.05	4	\$772.20
**Graduate Assistantship Stipend (paid bi-weekly over 9 months)	(\$8,194.00)	2	(\$16,388.00)
***Student Health Insurance (Required for international students) (Priced per year)	\$2,021.00	2	
****Books	Various	4	
****Parking Tag (optional, priced per year)	\$120 -\$170	2	
Estimated Living Expenses (priced per year)	\$17,600	2	
*****Total Estimated Costs			(\$7,403.45)

*Costs are based on 2019 Fall Fees. Fees typically increase each year so actual costs will be different than those estimated above. Please see the Cashiers Office at cashiers.missouri.edu/costs for the most recent costs.

**A graduate student is eligible for a waiver of resident and non-resident tuition (if applicable) if they have an assistantship that meets the eligibility requirements of FTE (hours dedicated for the assistantship per week), stipend level, and title. The student must meet academic requirements of being enrolled in a graduate degree-seeking program, and being in good academic standing.

***Student Health Insurance is separate from the Prepaid Health Fee, which only gives access to the Student Health Center. Health insurance for international students is required. Please see the Graduate Studies Office website for additional information on coverage and current costs: http://gradstudies.missouri.edu/financials/student-medical-insurance/costs-coverage.php.

****The cost of books will vary depending on classes and program emphasis. The cost of a parking tag will vary. Please visit: http://parking.missouri.edu/